IMPORTANT INSTRUCTIONS FOR THE CANDIDATES

Examination for selection to the post of TECH-llI(PL) against 25% LDCE in Pay
Matrix Level- 2

Centre of the Date of the Duration of the Full Marks
Examination Examination Examination
CBT centre, Sr. DPO’s 25-9-2024 02 Hrs 100
Office, Bilaspur (i.e. 120 Minutes)

1. 9% U3 ¥ $d 110 Sgahetd axgS UHR & Uy i forad rerume (Hifa/feznfd=yfam
3MTf) TR 10 T8 A BT MR ISTHIST TR U A fetias givl|
The question paper should contain total 110 multiple choice objective type questions which
shall include 10 questions on Rajbhasha (policy/guidelines/Rules etc.) and questions on
Rajbhasha will be optional.

2. 3Rl &l aae <l o & fh a Fa 110 U H A Big HT 100 U gA H1 1 AE, DIs 1 IHfigar
100 ¥ 31fIH IR <l &, A Tge! TN T 71T 100 Uil BT 81 Hed e & forg /=T e |
Candidates are hereby advised to attempt any 100 question out of total 110 questions. If,
any candidate answers more than 100, then the first attempted 100 questions will only be
considered for evaluation.

3. gt Ui & fT 01 3i BT 3R UA® TTaid IR & AW 1/3 THRIHD 3ih gRTI|

All questions will carry 01 mark each and there will be 1/3" negative marking for each
and every wrong answer.

4. i udt & gt Tevur & ois fadinfa g @ sl dxmro o= g
In case of any discrepancy in Hindi version of questions then English version will be stand
good.

5. 3FHICaRT F1 T glel 7 37e T AT Blet/IoT/helepolc/FHIE Tfsdi/daT AT HIE 3+
EETA ST /FTITAT T T 31T el ¢ |

The candidates are not allowed to keep mobile phones/pagers/calculators/Smart
watches/ bags or any other documents / papers with them in the examination hall.

6. 379gAf odie T & 1T gdieT dhg ST OIS hd |

The candidates can’t leave the examination centre during the examination hours.

7. IS S AR wehel I1 el 31 eI @TereT & foed 9ram ST &, o Yord dar 3HTeroT
fAGHT & 3TAR TR & gl HRATS T ST |
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If any candidate is found indulged in copying or any other unfair means, would be taken
up under DAR as per Railway service conduct rules.

8. EI'QHW?HT?I?HT@ SECR &' 31Tf8hIes de@rse (www.secr. Indianrailways.gov.in— §HIX
TR A BT e e 7eeT AR 3R Fsil) W 3Tl i Seat|

The answer key along with question paper will be uploaded in the SECR official
website (www.secr.indianrailways.gov.in- About us->Division->Bilaspur-»Personnel->

Question and Answer Key).

9. 3FHICAR THSHIR T IR derdrse & fafése e ured # 3w GHoft 3Tels =t
T ARG T 3 F1Y fegat & iR afe FIs 3mafy gt ar 3aT T 8|

Candidates may raise objections if any within 3 working days from the date of uploading
of answer key in the prescribed format as specified in the SECR official website.

10. ITE 3T FEY I1S ST & A FNTRIT 3T Fofl T & TESEISR 1 e dadge W
3T9CTS I ST, ST d1e, ThaT $i 3131 WX AR 181 fohar Sream|

In case objection found correct then revised answer key will be uploaded again in the SECR
Official website thereafter, no further representations shall be entertained
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Y / Questions

Q1. g arell FMAT/3TT T I AT o TolT IUATIT T 1ot aTell 3TaoT &

Instrument used for measuring the speed of rotating machines/ appliances is
(@) Lux meter (b) Tachometer
(c) Micrometer (d) None above

Q2. 4% &I I Telet dTell 50 FEoT AT HICT & Ve T i ATy AT graf?
(a)50Hz (b) 2.5Hz (c) 1Hz (d)2Hz

What will be the frequency of rotor current of 50 Hz induction motor operating at 4% slip?
(a)50Hz (b) 2.5Hz (c) 1Hz (d)2Hz

Q3. AFITART H T Fi Teh Aot TeTfeaT AT 78T 872

(a)3- TROT SSFAT Al (b) 1- TIUT SSFAT HIcT
(c) 1 3R 2 gt (d)FRIFT H A IS ST
Which of the following is not a self starting motor?

(a)3-phase induction motor (b) 1-phase induction motor
(c) both 1 and 2 (d)none of the above

Q4. TEBIAT H 7 H 374 § 8 dgerer &7
(QUFTER  (b) ATFT HRH (c) ATeeST &l TAX (d)3mgfr

The basic function of a transformer is to change which of these?
(a)Power level (b) Power factor (c) Level of the voltage (d)frequency

Q5. Teh SHBIAT H, Aehs{l IX dleol T G fehcell Bl & 2

(a)oTSH A &I3T (b) ITSHLY & SRTET
(c) ISHY & FHA (d)FTe & Ig g
In a transformer, the frequency of a voltage at the secondary is?
(a)greater than the primary (b) equal to primary
(c) less than primary (d)None of these

Q6. B R INIA Afhe ST 578 T FTPY 0T It F FGE AT 82

(a) TS e ot (b) feeeRATarE (o) HR A (d)eX=T (a)31R (b)
Open circuit test on transformer helps in calculating which of these ?
(a)Eddy current loss (b) hysteresis loss (c) copper loss (d)both (a)and (b)

Q7. TTHBIHET I I 39N e & H fhar rarg ?
(a)Ueh SogeleX (b) T el (c) @ ()31 (b) (d)3=TH & PIS =Tar

Transformer oil is used as?
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(a)An insulator (b) A coolant (c) both (a)and (b) (d)None of these

Q8. TR H FHoRaeT b FHT YT FT fhaT SATATE ?
(a)ATIHTST JET o HRUT el oh TAEAR 1 oled o TeIT (b) Teh ool HSROT o G H SR el o felT

(c) STAIFR T 6T FHfelaT o ferw (d)3RIFT H T IS T80

Why is Conservator tank used in transformer ?

(a)to take up the expansion of oil due to temperature rise (b) to act as an oil storage
(c) for better cooling of transformer (d)none of the above

Q9. Teh TEBIA H fie=ifeild 7 & it € gTiet e Bl &7
()T e i (b) BERIAT AT (c) PR AT (d)NEAAST T

In a transformer which of the following losses are zero?
(a)Eddy current loss (b) hysteresis loss (c) copper loss (d)Rotational loss

Q10. F3oIT 547 A FT AT ¥ I SHIS 82
(a)deNTEE (b) $FIH (c) egfAeTE A8 (d)sPrE

Candela is the Sl unit of which of these quantity ?
(a)Velocity (b) Impulse (c) Luminous intensity (d)Force

Q11. fdeFd URT T Gl S dTeT SYRLOT T FIT el & ?

(a)aTeeHeT (b)R3NEaTa (c) areHEX (d)FreaarHex
An instrument which detects electric current is called ?
(a)Voltmeter (b) Rheostat (c) Wattmeter (d)Galvanometer

Q12. TS e dF a8 ¥ fhg 9T [ FEm

(a)3Tg T (b) Fefere STAEr (c) HICTS (d)3oRIeFeT wiT
Eddy current loss will depend on which of these?
(a)Frequency (b) Flux density (c) Thickness (d)All of the above

Q13. 397 & Sl ¥ 3T AT dlecol & ol g ?
(a)TTATHLIT WMSeT T UTay TAW &TFACT d¢ Silal &
(b) TATARIST ST oE FHeT & ST g
(c) JTIIEY HIC I &1l 3R TTeTh &I HIAT HH 8 STl §
(d)3RYeFT Fair
Which of these are advantages of higher transmission voltage ?
(a)Power transfer capability of the transmission line is increased
(b) Transmission line losses are reduced

(c) Area of cross section and volume of the conductor is reduced
(d)All of the above

Page 4 of 18



Q14. Fole diecs Wwsd BTed & T, alecs RAfAT# T T &2

(a)0% (b) 100% (c)50%  (d)3RIFd &§ & FIg o
For flat voltage profile system, what is the voltage regulation ?
(a)0% (b) 100% (c) 50% (d)Any of the above

Q15. 91X theeX &l AT T oifdeT H dgelel & folv HeATaf@d # & foha fafer &1 39T fomar

ST 8?7

(a)2C TUTRT (b) S@eT FETRT (c) e Ruerex (d)FRFT H T Fis oY
Which of the following method is used for changing power factor from leading to lagging?
(a)shunt capacitor (b) series capacitor (c) shunt reactor (d)Any of the above

Q16. TR FeT AT & A fohaeh TQelh Tad 3! et verd ad g ?

(a)eric Tfhe (b) STSTTeaT (c) TaTfehaT ()3T
HRC fuses provide best protection against which of the following -
(a)Short circuit (b) Lightning (c) Sparking (d)Fire

Q17. HAEH FT 39T et id & § frdepr ATIS o forw frar srar g -

(a)@TecsT (b) T (c) gfarer (d) 3T Tl
Multimeter is used to measure which of the following -
(a)Voltage (b) Current (c) Resistance (d)All of the above

Q18. A& H ¥ g AT & fIT AIR &7 39T fFAT AT -

(a)areesT (b) I (c) SogeIRIeT AN (d)SRIercT Ty
Megger is used to measure which of the following -
(a)Voltage (b) Current (c) Insulation resistance  (d)All of the above

Q19. faegd 3T, fohe o & 3Tl 82
(a) FAHT (b) FeITE &T (c) Ferg &Y (d) FeITT 3T
Electrical fire comes under which class of Fire ?

(a) Class A (b) Class B (c) Class C (d) Class D

Q20. ACTM &1 el HidT TS -
()TN SA I  (b) THTSRA AT (c) T e Ag3rel (o) Ty SFelar Heparer

What is the Full form of ACTM ?
(a) AC Train Manual (b) AC Traction Manual (c) AC Traffic Manual (d) AC Training Manual

Q21. CTABER & A+ AT SieT T W1 FATEIAT 82
(a)3TeTsiy (b) sfrerm (c) drerr ()T

Page 5 of 18



The colour of moisten silica gel of transformer is
(a)Pink (b) Blue (c) Yellow (d)Green

Q22. U Sloiked FT holdc AT &?

(a)TTTeh SrolT hT Tehrer & (b) TG oll ol Tifeh ol &

(c) T St I fdegd Foll & (d)3URNF F H HIS e

A generators converts ?

(a)Mechanical energy into light (b) Electrical energy to mechanical energy
(c) Mechanical energy to electrical energy (d)None of the above

Q23. T ZHBIAT A TR IV Y ST et & [TT GRaTIcHe 3UhIOT T § 2
(a) 2T et (b) FepTest el (c) 37T et (d)STw Rt

The protective device to indicate the internal fault in a transformer is
(a)Thermal relay (b) Bucholz relay (c) OV relay (d)EF relay

Q24.  SiteTel Yord H faegd et Hla &
(a)PCEE (b) CEDE (c) DRM (d)CEGE

The Electrical Inspector at zonal railway is
(a)PCEE (b) CEDE (c) DRM (d)CEGE

Q25. Arafaf@a & 9+l afFad FRE A FAEFATE?

(@)f ST NS F AR (b) TITTSE (c) I (d)3RFT gafr
Which of the following reduces the power factor ?
(a) Motoron noload  (b) Tube lights (c) Fans (d) All of the above

Q26.  4-R TaEgd IRYY H, FHTel Hhsere i 3T fehdreh [T fhar sirar g 2
(a)¥aT (b) 7IgeT (c) 3T TR (d)3TTHAT

In 4-wire electric circuit, the black conductor is used for
(a) Phase (b) Neutral (c) Earth wire (d) Armour

Q27. 3 7TROT, 440 V 3H1aXeS fAcROT oligeT # o FehR o Sl &l ST e fohdT STl &2

(a)fTeT (b) S¥her (c) l3F=h (d)STH & IS 8T
Which of these type of insulator not used in a 3 phase, 440 V overhead distribution line
(a) Pin (b) Shackle (c) Disc (d) None of these

Q28.  33kv/11 kv RETEaT TerT b TgercT 31 TR ot AT & 37780 =781 gleir =g e?

(a)1 30T (b) 2 37T (c) 10 30 (d)20 315
The combined Earth resistance of 33kV/11 kV receiving station should not exceed what value ?
(a) 1 ohm (b) 2 ohms (c) 10 ohms (d) 20 ohms
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Q29.

Q30.

Q31.

Q32.

Q33.

11 kV/415 V HE-E2 T TeF Y TR fobdy Ao @ 37T8Ieh 7161 gitm =g e?

(a)0.5 3T (b) 2 31T (c) 10 3 (d)20 31
The combined earth resistance of 11 kV/415 V Sub-station should not exceed what value ?
(a) 0.5 ohm (b) 2 ohms (c) 10 ohms (d) 20 ohms

oI5 TS A & T 74T SolFEIATSE AR el & TN ST FohT ST aTed 3Gl STl 3R
TS T 3T T B 2

(a)1:1 (b)2:1 (c)3:1 (d)a:1
The ratio of distil water and acid used to prepare new electrolyte for lead acid cell is
(a)1:1 (b) 2:1 (c) 3:1 (d)4:1

31ERES TS o GIVYUT EEH TR 1A Y& el § TGl TohT SileT ATl TE ol heH FT gIam?
BRIEGEBESS (b) T e T RIAT 9T h
(c) YT AT shof T3 (d) T 9T I =TT

First step to be carried out before starting work starting work on faulty portion of overhead line
is to -

(a) Earth the line (b) Obtain the permit to work

(c) Bring ladder or crane (d) Climb on the pole immediately

IOt AT IX 1 YE Tl U Tgol FAT GiATRad R ST afe T ?
(a)aToqoT fee &b forstely Y 3Tt & 3rerar Y AT o &

(b) TR Gl TR TGet o oIt gATed HoTed &

(c) FeTeT WgeT & TorT qiTed el 781 &

(d)3IRIFT FH QPS8!

Before starting the work on faulty circuit it should be ensured that
(a) The faulty portion has been isolated from the power supply

(b) The worker is strong enough to climb the pole

(c) The cable is not deep enough to dig

(d) None of the above.

5 faegd 3iaRes drget W fohar ST 8, 38 el R R 3ifiardl &9 & 319 ot o
SITeAT AT u?

(a)hUTaTET THTE & HRUT Shsere] & STl HIGI dTat 3l G hl

(b) Y@ &I Y T8 T oIl & folT

(c) &t (a)31 (b)

(d)3IRIFT H A AIS oTal

The electric overhead line on which work is to be carried out should be necessarily earthed on
both the ends to -

(a) Dispense the charge stored between the conductors due to capacitive effect

(b) To bring the line at zero potential

(c) Both (a)& (b)
(d) None of the above
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Q34.

Q35.

Q36.

Q37.

Q3s8.

Q39.

Q40.

Q41.

s Tfthe W T A THY T gEdTel g [SoTell o STcah O 3T 8T h Thd 82

(a)&TCTeT HTHAT (b) Segere FTHIAT

(c) 3TeT=ITeleh Tl (d)3RIFd H T A1 oY

One can protect himself from electric shock while working on live circuit by wearing gloves of ?
(a) Conducting material (b) Insulating material

(c) Semiconductor material (d) Any of the above

SANC o foTT JTeehcd 31TAd 3 gl Far g 2

(a)0.5 3N (b) 1 30 (c) 2 30 (d)8 3T
Maximum permissible earth resistance for buildings is
(a)0.5 ohm (b) 1 ohm (c) 2 ohms (d)8 ohms

TordY 3R Tt vt 3mqfet & dredst 7 3rfterdd festar fahestr &2
(a)t 2% (b) +3% (c) + 4% (d) 6%

The maximum variation allowed in voltage of LV & MV AC supply is ?
(@Q)t2% (b)£3% (c)t4% (d)x 6%

T Tfet T T 3 3T TR Hatalr fohctalt &2

(@)t 2% (b) £3% (c) +4% (d)+ 6%
The maximum variation allowed in frequency of AC supply is ?
(@)t 2% (b) 3% (c)x4% (d)£5%

TelcT 3R THET ol1Sal o v ST & Fad faael shgeeX i e fohdsir glell arfge?

(a)17 BT (b) 18 Pre (c) 19 hIE (d)20 Fre|
Clearance of the lowest conductor from the ground for LT and MT lines should be ?
()17 ft. (b) 18 ft. (c) 19 ft. (d)20 ft.

g1 UfAS & F Fle-ar, ol vfds o A iftar 319 & fore yer frar smar g

(a) HNOs (b) H,S04 (c) HCL (d)3=T3 & IS T8
Which of these acid, is used for topping up in lead acid batteries ?
(a) HNOs (b) H2SO4 (c) HCL (d)None of these

440 V T TIeRUT 1S 1 58 YehR F3fiehel fhaT araT g ?

(a)TerdY (b) THAY (c) TEY (d)ST=EY
A distribution line of 440 V is classified as
(a) LV (b) MV (c) HV (d) ERV

helol o feTT S ole ATHIT & SeTd @ shieT AT 0T gl AT T?
(a)hH efreTd (b) 3TT Wrdega AHLd
(c) 3=T I3 afea ()3T gt
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The insulating material for a cable should have which of these properties?
(a)low cost (b) high dielectric strength
(c) high mechanical strength (d)all of the above

Q42. fARf@a & 3 #i9 e Fad H T e A AT ?

(a)aifSaT (b) 2frer (c) START (d)ZTH & IS Tar
Which of the following protects a cable against mechanical injury
(a)bedding (b) sheath (c) armouring (d)none of the above

Q43.  S3TSI T ol BId AT &?

(a)U3 3T IR (b) ST 3TeT SR
(c) BTcel o3 3iTeT SieARerd (d)E3 3TeT AT 2TeT
What is the full form of EOG?

(a)End on generation (b) Engine on generation
(c) Hotel load on generation (d)Head on generation

Qa4. ST Fr &THAT [FTH cgard Hr ST 82
(a)TFIRR g (b) AT (c) ATE-EE (d)ETH 9Tax

What is the capacity of the battery is expressed in?
(a)Ampere hours (b) Watts (c) Watt —Hours (d)Horse Power

Q45. ol Tfas Sedl a1l el & i T £2

(a)eRTAR FHITAd Al (b) TRTAR & A

(c) &It (a)31R (b) (d)FIRYFT H & PIS AT
What are the modes of charging a Lead Acid Battery?

(a)Constant potential mode (b) Constant current mode
(c) Both (a)&(b) (d) None of the above

Q46. 55 IfE 60 dic 3R 100 dlc & ofF H J@aT & YT & i F ST ST, dr Hi
a1 g 3ifte Aewl S

If a 60 W and 100 W lamps in series and are connected to a source of supply, which lamp
will give more light

(a) 100 W
(b) 60 W
(c) Both will give same light/ SIT Teh SIAT UM &ar

(d) None of the bulb will glow/ &S 3 Soa TG STelaT.
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Q47.

Q48.

Q49.

Q50.

Q51.

Q52.

Q53.

ATAAES HN 1 3TN A et & Tl TR ST g

Laminated core is used to reduce
(a) Hysteresis loss (b) Eddy current loss
(c) Copper loss ) (d) iron loss

o1 IaTa Shadll T YA ITHAR T de hAT ST g

Low tension cables are generally used upto

a. 200V b. 500V
700V d. 1000V

argar idhe 7wl ge1a @ fohdy 9T ofamraT STwaT?

(a)%aT (b) =gl (c) 371 (d)FIRIFT H T PIS HY
In wiring circuit the fuse will be placed on which of these ?
(a) Phase (b) Neutral (c) Earth (d) Any of the above

TSSTelT & AT & 373728 F & 9 H g grerai &1 fAwrier Fir ey g2

(a)SPTeIeT ST FARTSS (b) ST STS3HTFHTSS
(c) HHT gFHTFARTSS (d)FRFTHF T RS oY

Which material is recommended as fire extinguisher in electrical cases

(a) Carbon tetra chloride (b) Carbon dioxide

(c) Sulphur hexafluoride (d) Any of the above

gige arafer & fort 3uieT fhT ST arel dieh & aR &1 AR aef fAeA 7 ¢

The size of copper wire used for point wiring in sqg mm is
() 1.5 (b) 2.5
(c) 4 (d)10

11 kV/415V SEWHIER FI&T & T LA, HT S dledsT §
The rated voltage of L.A. for 11 kV/415V Transformer Protection is

(a) 11 kV. (b) 12 kV.
(c) 9kV. (d) 24 kV.

R FST &1 39T FIT ST 8

(a) TehTRr (b) WAT SATAT
(c) Sedr anfetaT (d) 3T T3
Solar energy is used for

(a) Lighting (b) Cooking
(c) Battery charging (d) All above
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Q54. T fdegd ofd W 100dre 3ifehd g1 I§ 200dlec W HH F @ &1 R quss &
eI dTell &RT T g19fre
(a)0.5 A (b) 0.2 A (c) 5.0 A (d)1.0 A

An electric lamp is marked 100 watt. It is working on 200 Volts. The current through
the lamp would be ?

(@)o.5A (b)0.2 A (c)5.0A (d)1.0A
Q55. B39 AT H g LTI IR T ST g
(a)at (b) =g (c) 3T AR (d)38 AT
In house wiring the green wire indicates the
(a) Phase (b) Neutral (c) Earth wire (d) Dead wire.

Q56. THY Gfthe &1 grax e frga sUeT giar &7
(a)TROT 0T & T (b) TROT T F AIST
(c) TRUT AT & HASA (d)3=1H & HIS Tgr

Power factor of AC circuit is equal to
(a)Tan of phase angle (b) Sine of phase angle (c) Cosine of phase angle (d)None of these

Q57. ST ¥ 33 %dl oigel & TeeTdd Fseed & U 3HaRTs wgeAdH el &r 82
(a)3 M (b) 4 M (c)6.1M (d)14 M

The minimum clearance required for the lowest conductor from the ground of 33 kV lines is ?
(a)3 M (b) 4 M (c)6.1M (d)14 M

Q58.  25eliey, 1500 dfe &l Mo wfdfeet 2 € e T &, 180 el s @ua i 15 gfae

FIT BIam ?

(a)540 (b) 480 (c) 620 (d)700

A geyser of 25 liters, 1500 W remains ON for 2 hrs per day, units consumed for 180 days will be
(a)540 (b) 480 (c) 620 (d)700

Q59. U 2x40dlc & dled BT dod T &t & 10 8¢ Foralr §, 5T A® & v 3/-
9T 9fd gfae T X F faegd Yoo Fr g ?
(a)18 (b) 36 (c) 72 (d)90

A 2 x 40 Watt box type bulb fitting glows for 10 hrs in a day, electric charges for the month of
June at the rate of Rs 3/- per unit will be ?
(a)18 (b) 36 (c) 72 (d)90

Q60. TS TIUr (FEUTER) fohdel ale & SRIX Bidl &7?
(a)700 (b) 725 (c) 740 (d)746

One Hp (horsepower) is equal to how many watts?

(a)700 (b) 725 (c) 740 (d)746
Q6l. AT & fav 3maR d@fRdr 598 @ frasd ganr arfaa gidr g2

(a)Is: 3043 (b) 1S: 4340 (c)IS: 4340 (d)Is: 4430
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Q62.

Q63.

Q64.

Q65.

Q66.

Q67.

Q68.

The code of practice for earthing is governed by which of these ?
(a)Is: 3043 (b) I1S: 4340 (c)IS: 4340 (d)Is: 4430

afe TR ISl de The YT &aT B, A SHRT FoNIfA FHROT FAT Y Fehel &2

(a)éu?rﬁm?ﬁmgzcrr (b) JId AT & dIG SEJATA [haAT I-AT Soled
(c)ﬁmgmarwﬁm (d)3TH & FIS FGT

If a DG set gives white smoke, then the probable cause may be ?

(a)Water mixed with fuel (b) Engine used after a long time

(c) Worn out liner piston (d)None of these

rAfaf@d # & S TO1 39T Sl & TATelT FT 3T TROT FIT §2
(a)35FAA TeId (b) FFIe TIh  (c) 3o Td (d)TISie T

Which of the following is the last step in diesel engine operation?
(a)Induction stoke (b) Compression stroke (c) Ignition stroke (d)Exhaust stroke

Ife 1S o A YT BIcT ¢ Afehel T HAY 916 & g1 ST §, Al 8T Henrfad
$RUT g1 Tehdl FAT g ?
(a3t & arg (b) 3T ST Ak (c) U o AP (d)FRIFa Tl

If a DG set starts but stop after some time, the probable cause may be
(a)Air in fuel (b) Fuel line choke (c) Fuel filter choked (d)All of the above

Uq IS FEATGES U9 A A AEATI@T A @ had G @el H HE AT §?
(a)faTer WiGeT (b) Ra&¥ wfeiar (c) 3ax afsar (d)ars ST

Pump Guard functions to protect the submersible pump set against which of the following?
(a)Single Phasing (b) Reverse Phasing (c) Over Loading (d)Dry Running

v 9g HT Al Fel U gl 82

(a)STHAT TR & FI (b) STHAT TR & A
(c) X & I A (d)3=TH & HIS Tgr
Motor of the VS pump is located at?

(a)Above the ground level (b) Below the ground level
(c) Deep in the bore (d)None of the above

Ife 999 F HcTTH U g, dl 390 T il AT FHTTIT HROT &7

(a)eIfsrehfear 3iiger & w7l (b) 99 fhT ST aTet ga & A a1 arg
(c) §T oM (d)s=TH & @IS g

If there is excessive vibration in pump, then which of these is the probable cause ?
(a)Moisture in lubricating oil (b) Gas or air in liquid to be pumped

(c) Bent shaft (d)None of these

A AT & YT ¢ W Ay Hifder Hr RAidse Fnriy & Har v A
frafaf@a & & fras ganrT & o dadr &7
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Q69.

Q70.

Q71.

Q72.

Q73.

Q74.

Q75.

(a)fdege et (b) F.IR.TH

(c) HEreh faegd forliereh (d)TIIR.TH

In special cases the reduction in specified clearance of electrical crossing on railway track can be
permitted by which of the following?

(a)Electrical Inspector (b) D.R.M
(c) Assistant Electrical Inspector (d)A.D.R.M

Faiel ool g5 Al H Targ Rer dir d&ar fhdsir giar g ?

(a)1 (b) 3 (c)4 (d)3= & g el
The number of slip rings on a squirrel cage induction motor is
(a)a (b) 3 (c)4 (d)None of these

TEFaer shoT S3RIAT AT H 3PR N} 39 Ak § Y Tg |

(a)ag?résrmﬁrﬁa?hﬁ (b)ag?r%ﬂxh?rﬁrﬁaﬁ?ﬁ
(c) =T&r Telam (d)eMR LM

If the rotor is open circuited in a squirrel cage induction motor then it

(a)will run at very high speed (b) will run at very slow speed
(c) will not run (d)will make noise

Ry oS e 3 3T AR @Y ot Ry v g

relay operates if there is a heavy increase in load current.
(a) EFR (b) OVR
(c) OLR (d) Thermal relay

3maeTeh I efara 3R ufafsanehe afea s afeerarrg

The vector sum of active power and reactive power required is
a) Apparent Power  b) Power Factor
¢) Load Factor d) Maximum Demand

S| guTrelr 7 faferse AT Hrews g

Unit of specific heat in Sl system is .
a) joule /kg °C b) kg/cm? c) kcal/m®  d) kcal/cm?

TRIBTHR A B GidhdT §3HT ATdhd 811 &1 WIS §

The dielectric strength of transformer oil is expected to be
a.  1kVv b. 33 kV

c. 100kVv d. 330 kV

HTaT o oI ST hY SATed aTell SIS AT FEXeT T ol Slehels wgeTdH TR i gleit
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Q7e.

Q77.

Q78.

ENY

Q79.

Q80.

Q81.

Q82.

The plate electrode of Gl or steel used for earthing should be with minimum size of
(@) 50cm x 50cm x 3.15mm (b) 50cm x 50cm x 6.3mm
()  60cm x 60cm x 3.15mm (d)  60cm x 60cm x 6.3mm

UIUY U9 GFRAT 88 & T hIH FaT g
HS Pump works with suction head.

(@) 15-20 feet head (b) 21-40 feet head
(c) 41-80 feet head (d) None of the above.

10 T U9 AT & AT fohdl T T FE1ET 3UZeFl 87

For a 10 HP pump set which type of starter is suitable
(@) DOL (b) Start Delta (c) Auto Transformer
(d) None of the above

JeHiTash T & ATUROT shegTIHRSE T o [olT ITURdH HFUT 88 I AT el gladl

Theoretically the maximum suction head for ordinary centrifugal pumps should
not exceed.
(@) 20 feet (b) 34 feet (c) 10 feet (d) 5 feet.

Y &THAT aTel hegTIHR S 94T o Tolv, f3mge a7 AT AT H §

For large capacity centrifugal pumps, design efficiencies are in the range of
a) around 70% b) around 85%
¢) around 95% d) any of above

T faegd ghrs=

One Electrical Unit =
(@)1 Kwh (b) 1 Kw (c) 1 kVA (d) Watt

A & AFH & TR ?
(a) &Y = 318 X 3R (b) Y = 3TS / 3R () IR =7 x 3M5  (d) SAH A RIS AT

As per Ohm’s law ?
(a) V=1xR (b)V=1/R (c)R=VxI (d) None of these

SThaIbe ofT &1 fheltde 31 & forg Il A ST glar 8?2
(a) fe=T (b) TspIeT (c) TIESA (d) eax
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Q83.

Q84.

Q85.

Q86.

Q87.

Q8s.

Q89.

Filament of incandescent lamp is made of which of these material ?
(a) Tin (b) Nichrome (c) Tungusten (d) Silver

IR T AeTlTSeT F NSl T Ugel [AeaA ol & H H ahieT AT IAGTOT FohdT SATAT ATfRT?

(a) IR gdraToT (b) FPRARATIlETOT  (c) YAIATTIGTOT  (d) SR H A H1S 8
Which of the following tests should be done before connecting a wiring to the mainline
(a) IR test (b) Continuity test (c) Polarity test (d) Any of the above

o1 3 & e 3RS faawor oseT s Rear 8T &

(a) FBFX (b) $geleX (c) shre 3R (d) Resew
Which of the following is not a part of overhead distribution line
(a) Conductor (b) Insulator (c) Cross arms (d) Thimbles

fAFfaf@d & @ et A eaqe Fr g e fafer g

(a) AT3Y T AT3Y TIX g fafer (b) ETSTRel TIRX I T 3T AT
(c) TR gt (d) 3RIeFd H F HIS AT

Which of the following is most effective method of artificial respiration ?

(a) Mouth to mouth air pumping method (b) To use bicycle air pump

(c) Both (a) & (b) (d) None of the above

fAFfafad # @ fha faegd geeeers & e €9 8 W@ ST &
(a) wTafAe RIfercar steg (b) TETX (c) 37T IS (d) 39T Ty

Which of the following is to be necessarily kept in a electric substation
(a) First aid box (b) Stretcher (c) Earthing rod(d) All of the above

oI oISt IX &1 &Y TeT & 38 [Ea< 9T &7 ITaei aS ofaT=ir gram ?
(a) JTTEHT FTHA FI B & (b) @eRT (c) T T (d) STH A HIS

The warning board to be provided, on the switch of the line on which work is going on ia -
(a) Man working (b) Danger (c) Keep away (d) None of these

SIS dTIHATT ST &, AT s I TS —
(a) odTe (b) TEaT ¥ (c) Y (d) 3RFT H T IS 81

When temperature increases, than length of conductors -
(a) Increases (b) Decreases (c) Remains same (d) None of above

ATSHIFET FT 39T At f@d & @ frgenr Aras & forw frar srarg -
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(a) QTHIAT BT HERAT  (b) TEIINHIACTS  (c) FC Eeled (d) 3TRIFT Tr

Micrometer is used to measure which of the following -
(a) Accuracy of the material (b) Thickness of the objects (c) Current density (d) All of the above

Q90.  SIEY It 3N YA ST & TATSAH & FATHETE 2
(a) ST C YA TAT A AT TG ThATE  (b) ST I YT STl o ATEYH U &g bl &
(c) S e ol 3ces dfex & TR fFarsrarg (d) St v 7 uRafda gr smar g
What is true for DC supply and distilled water?
(a) DC current cannot flow through distilled water (b) DC current can flow through distilled water
(c) DC current gets stored in distilled water (d) DC gets converted into AC
Q91. faefaf@a & & i ar s aFeg aaier v §
(a) 2IT¢ Afdhe (b) 39T Tfhe (c) wgST 331 (d) IRFT THr
Which of the following is a common wiring fault ?
(a) Short circuit (b) Open circuit (c) Fuse blown (d) All above
Q92. 27 f33l Afewad W &S Uil deRat & Selerciensge & [aRIse aecd 1 gl AT ?
(a) 1200 (b) 1210 (c) 1220 (d) 1230
What should be the specific gravity of the electrolyte of Lead Acid Batteries at 27° C -
(a) 1200 (b) 1210 (c) 1220 (d) 1230
Q93. AT & O leT A STt ATHEAT T 3TN Sheleil 7 T SITAT &2
(a) aTfeter HiFsh (b) TR (c) SIRTST (d) 3IRIFT H A IS 7Y
Which of the following insulation material is used in cables?
(a) Varnished cambric  (b) rubber (c) paper (d) any of the above
Q94. TUSH T 379 TABIHI FIT SodTg ?
(a) 9T} (b) I (c) ArecaT (d) Shrerd &Y
A step up transformer increases
(a) Power (b) Current (c) Voltage (d) Frequency
Q95. fFfefld & & ieT Y vy gRaT Fraeni=ai §

(a) TS ATIX IT IYHIOT T 131 gTAT A o FU

(b) 3Tt ATe] et A Tgel, S Toh IS AT H 1A & X T@T &
(c) TH STt o ToIT T&T 3 GEATeT T TN HY

CIERNET KN

Which of the following are principal safety precautions

(a) Don’t touch live wire or equipment with bare hands

(b) Before switching on supply, see no one is working in the line
(c) Using rubber gloves for working
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QO6.

Q97.

Q98.

(d) All of the above.
g139 araReT 7 & T T IR FIT ST T g
(a) BT (b) =g (c) 3T aR (d) ST IRR

In house wiring the green wire indicates the
(a) Phase (b) Neutral (c) Earth wire (d) Dead wire.

YTl AT aTel T I FAT FEd 6 ?
(a) TTIT T (b) T e (c) AT A (d) ST T RIS gl

The instrument to measure the light is called
(a) Tong tester (b) Lux meter (c) Micro meter (d) None of these

C AT S FIALT & fIT 30T T THIY (AT #) & TY Hiche H ST STl §

Instrument connected in the circuit with the ammeter (in panel) to facilitate the

measurement of current is

Q99.

Q100.

Q1lo01.

Qlo02.

Q103.

(a) Current transformer (b) Potential transformer
(c) Excitation transformer (d) None of the above

fArfoiad & O Pl TawER & Jg deaarg?

(a) &< (b) aYeesT (c) hTeFadT (d) 3T FHY

Which of the following does not change in a transformer?

(a) Current (b) Voltage (c) Frequency (d) All of the above
HRT TIPR H AT I JAT HiT 872

(a)8T T e (b) A G 7

(c) &I 31 &t HeT=ig aitsr (d)3 31fRasl dsura

Who is the present Minister of Railways in the Government of India ?

(a)Shri Piyush Goyal (b) Shri Suresh Prabhu

(c) Shri D V Sadananda Gowda (d)Shri Ashwini Vaishnaw

ARAT Y & TSRS 3662AT H 3l & [ohel TOT T JANIT fohdT ST ATTRT?
()R 3T T HRTET & (b) STARRT 37
(c) UFA 37 (d)3RFT & T FS oAg!

fFrafaf@d & @ ala dr o 9RT & AfaUreT $T 3redl AT F AR w6 g2
(a)SATETET (b) AfT (c) ST (d)shsr

TSTHYT AT & Tecd R TG AT fohelel &1 # aafieper fohar aram g
(a)1 (b) 2 (c)3 (d)4
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Q104. TSt ATe g a¥ oiRa forar a=r are

(a)1974 (b)1975 (c)1976 (d)3TH & 5
EH]
Q105. aﬁalﬁaﬁﬁﬁ»ﬁﬁﬂqmﬁaﬂwﬁ%ﬁa;w-wﬁgémﬁﬁmﬁw

FIAT 82

(a)REY TegdR AfAfY (b) TEET wfAafa

(c) TrsTaTT iR (d)3eTa & HIS G
Q106. THTNT TSTHIYT FATaTsT AT & e FiaT &7

(a)3r.3R.TH (b) TA.IR.TH (c) BfATR A3 (d)ISTHTET IFTARRT
Q107. ToremST AT Hr RaeE T T A ST B

(a)elergaTT 31€geT (b)) TUseufa (c) 3uTeTey (d)3=T & HIS AT
Q108. B feaq e AT ST ?

(a) 14 f&csR (b) 15 fAdeR (c) 2 3FgsR (d) 3 feg=t
Q109. ISTHTNT fFTH & AR, e AR IR gdoll e AT J&or fohd &1 7 377 g 2

(a) & &aF (b) '@ &F (c) 'IT &I T (d) 39ad H T FIg 7T&T
Q110. 378 & ol & T &1 T &F # gaiichd § ? -

(a) 3IRES (b) HERTSE (c) ISRT (d) 3RFT H & PS5 8T

X X HATCA/End X X
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